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Concept_Grade-9 Polynomials

Algebraic |dentities

1. Write the coefficient of x2 in the expansion of (x — 2)3
2. If x +% = 4, then calculate the value of x2 + xiz

8334173
32-83x17+172

3. Calculate the value of —
4. Expand by using identity (2x -y + z)2.
1 2 \?
5. Expand: (Ex - §y)
6. Factorize: 9x? + 6xy + y?
7. Factorize : 8a® + 8b3
8. Factorize : 8x3- (2x — y)3
9. Factorize : 64a® — 27b* — 144a®" + 108ab?

10. Using a suitable identity, find (98)°.

11. Evaluate 1113, using a suitable identity.
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